
 
 

 

 

 

 

The Universal A�ach Plate tabs will go down into the cutouts in the rack in your desired posi�on. 

Use the carriage bolt, washer, and locking knob to secure down to the rack as shown.  

There are two strips of adhesive seal tape that you can use between the rack and Plate to stop any vibra�on noise.  

There are 4-1” carriage bolts, washers, and nuts included these are for helping you a�ach any carrying case or other 

product to the plate if needed. 

 

 

 

 

 

 

QUESTIONS or COMMENTS CALL 320-964-1616 Monday thru Thursday, 7:00 to 4:30 CST                              INST1317 

 

ITEM PART# QTY. DESCRIPTION

1 5317-1 1 Universal Attach Plate

2 HDW2069 1 5/16 x 3/4 Carriage Bolt

3 HDW2064 4 5/16 x 1" Carriage Bolt

4 HDW9119 1 5/16 Plastic Locking Knob

5 HDW9002 4 5/16 Flat Washer

6 G 1/8x1x14 2  Adjesive Seal Tape

7 HDW7058 4 5/16 Nylock Nut


